

#1.a) $(x+1)^2 - (y-1)^2$ deference of squares

=
$$(x+1+y-1)(x+1-y+1)$$
 remove brackets

$$+$$
 need help? try: $(x-7)^2 - (2x+4)^2$ and see me

b)

$$2x^{2}+2 3x^{2}-3$$

$$= 2(x^{2}+1) = 3(x^{2}-1)$$

$$= 3(x-1)(x+1)$$

$$y \in S!$$

$$x^{2} - xy + x - y$$

= $x(x - y) + 1(x - y)$
= $(x + 1)(x - y)$
 $y \in S$!

#2

$$ab + 2a + 5b + 10$$

$$= a(b+2) + 5(b+2)$$

$$= (a+5)(b+2)$$

$$\begin{array}{c} \begin{array}{c} \begin{array}{c} \\ \\ \\ \end{array} \end{array}$$

$$\begin{array}{c} \begin{array}{c} \\ \\ \end{array} \end{array}$$

$$\begin{array}{c} \\ \\ \end{array}$$

$$\begin{array}{c} \\ \\ \end{array}$$

$$\begin{array}{c} \\ \\ \end{array}$$

Then the missing measures are 5 and 2. m.

#3

. a)
$$\frac{(9x)(6x)}{2} = \frac{54x^2}{2} = \sqrt{27x^2}$$
 cm²

c)
$$-\Box$$

 $27x^2 - 48$
 $3(9x^2 - 16)$
 $(3)(3x - 4)(3x + 4)$

$$ax + 2a + 2bx + 4b$$

$$= a(x+2) + 2b(x+2)$$

$$= (a+2b)(x+2)$$

$$y \in S!$$

$$3x + 6$$

$$= 3(x + 2)$$

$$4E5!$$

$$2x^{2} + 2x$$
$$2x(x+1)$$
$$NO!$$

(#5)

$$= 7u (5v + 6) + 20 (5v + 6)$$
$$= (7u + 20)(5v + 6)$$

7u+20

.. Answer. 20 x 6 m

c)
$$a^2 - 64$$
 $(a+8)(a-8)$ cm^2

#7

$$2x^{2}+15x+28$$

$$=2x^{2}+3x+7x+28$$

$$=(2x+7)(x+4)$$

#8.
$$A = 2x^2 + 15x + 7$$

$$A = X^2 + \frac{15}{2} \times + \frac{7}{2}$$

$$A = b \times h$$

$$= (b)(h)$$

$$\therefore (x+15)^2 - \frac{169}{16}$$

$$(x+\frac{1}{2})(x+7)$$

$$#10a)(3x)(x) = 3x^2 m^2$$

c)
$$3x^2 - 12$$

 $3(x^2 - 4)$
 $(3)(x - 2)(x + 2)$ m^2

#11a) either factor or expand

$$n = -2 \quad n = 3$$

b)
$$2a^{2}-4a-1b$$

 $=2a^{2}-8a+4a-16$
 $=2a(a-4)+4(a-4)$
 $=(2a+4)(a-4)$
 $=(2)(a+2)(a-4)$

$$A_{\Delta} = \frac{2x^{2} + 15x + 7}{2} = \frac{bxh}{2}$$

$$= \frac{2x^{2} + 14x + 1x + 7}{2}$$

$$= \frac{2x(x+7) + 1(x+7)}{2}$$

$$= \frac{(2x+1)(x+7)}{2} \longrightarrow \frac{bxh}{2}$$

$$\therefore (2x+1) \text{ and } (x+7)$$

$$m$$

base x height

$$(14)^{2}A = \frac{2x^{2} + 26x + 84}{2} = \frac{D \times d}{2}$$

$$= 2(x^{2} + 13x + 42) \rightarrow (D \cdot d)$$

$$= (2)(x^{2} + 7x + 6x + 42)$$

$$= (2)(x(x + 7) + 6(x + 7))$$

$$= (2)(x + 6)(x + 7) \rightarrow (D \cdot d)$$

$$= (2x + 12) \text{ and } (x + 7)$$

$$= (2x + 12) \text{ and } (2x + 14)$$

$$= (2x + 6) \text{ and } (2x + 14)$$